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No. MHEAN ZERRT— LA =1 %2 | & &t g fz
16 |HTEHF | T/HATENVHOR 195 197] 392 1
3 |EEMA |HMOEXRMER (REZH) 204 179 383 2
32 |FRETHC |FBIFET 176 202| 378 3
42|FNHhB | BFEBEAF—L 195 179] 374 4
49 |RpHB [RHAREFS 165 179] 344 5
14|8IHETHD  |#a)IIBTERIZA 176 161] 337 6
18|HIETHH |REREFR 162 175 337 6
1 |FIREB |y W (AENAHBETHAEXED) 172 164 336 8
12|HIEHB  |SfEE—THREFRA 185 149] 334 9
8 |BXEMA |BAMETHFERRE 181 150 331 10
19 |HTHE I LRETRFS 160 168 328 11
22 |5HB  |SIRE 172 151] 323 12
5 |EZEMC |kt (PZEHAD 139 176 315 13
9 |IBXEEB | KAREIEFSFTRE 172 143] 315 13
31 |FEEHB |[HPETZEAS 150 160] 310 15
A4|EEHA [THEFES 181 129] 310 15
50| #EYTHA |EFHSK 119 191] 310 15
15[AIBTHE | EXBA 133 174] 307 18
21 |[BIRTHA |[ShittREFZESRERK 172) 135 307 18
40 |fEMTHB | FIEIAF—L 170 135] 305 20
34| AHTA |ERA 148 151 299 21
36 [AEHTC |&HIE(B)E 165 134 299 21
48 |RhThA  [BEEREEAD 170 129 299 21
10|BXEC  |BEATHIEREESR 181 117{ 298 24
29|HRAERB  |FE21X/\WEI5T 130 168 298 24
43|%)THC [ THERFR 159 138 297 26
28 |[RAETHA  |EBX (A)F—L 185 109] 294 21
4 |EEEB |Fa (hzKHA) 138 155 293 28
52 | EFTET FH-LES 119 174 293 28
27 |[mhG |BRETRRFR 165 126 291 30
23 |[EhC |EFIRRRFER 147 139 286 31
S51|AEYHB [FF#2K 183 101] 284 32
JBp|[RATB |[BIIWVSTAR 153 130 283 33
H|EIEHA | AKRESKLR 128 154 282 34
AN |FENHA  |E5 113 150 263 35
53 |k T4t LHHRER 156 104 260 36
26| =IETHFE | XHHTRES 139 116] 255 37
47|E@HB  [E#AEEIST 132 122] 254 38
17 |HiiEHG  |RUHEFR 131 122] 253 39
6 [FIMRARA |55 E  (I5EH) 143 106 249 40
45 |BEETHB [P RIFKEFER 127 114] 241 41
33 |{FEMRTHD |FHh SHT 119 99| 218 42
39 [FEMTA |KEMHILR 103 115 218 42
13|AIETHC |SfEa—THEFEB 143 13| 216 44
24|mHD  |BRAILURESR 92| 121 213 45
30 [FBUBTHA |THETZAIST 120 91] 211 46
54 | 7R T MRE f—F—L 99 106/ 205 4]
37[AEMA |ViFBEETE—FR 15 126] 201 48
55 [HREAS X 105 96| 201 48
25 |SIFTHE [T /MEHT 119 80| 199 50
56 | & [iE] BT = [iE] BT 82 115 197 51
20 [ATHE™Y | FRIEA 103 88| 191 92
1 [HERA |RERFR (T{CHHE) 11 68| 145 53
46 |ER™TA [EHHEALE 81 98| 139 54
B|IBHMB |[FHEANIST 46 89| 135 95
2 |HZARB | HZKHET 60 13| 133 56




